While it is a reality that effects of volcanic ash and the multitude of gases emitted by volcanic eruptions are quite measurable.   And yes, and argument can be made that the carbon 'regulatory' initiatives are practically negated by this, but, consider also the reality of the consumption of Oxygen from the atmosphere in the process of generating CO2 and the heat generated by burning fossil fuels.

The sad fact is that the burning of fossil fuels is consuming billions of pounds of Oxygen right out of our atmosphere.   Further, the heat generated by the combustion of fossil fuels all goes into the atmosphere.   Just imagine 500 million cars each consuming 22lbs of oxygen from the atmosphere for each gallon of gas they burn, plus adding all that heat!   Heck, every person on the planet generates about 100 watts an hour in body heat that goes into the atmosphere that is 600 billion watts per hour when you look at six billion people on the planet.   

But that is drop in the bucket when you count the more than 3 Trillion cubic meters of natural gas burned every year world wide at 10.8 kilowatts / cubic meter or 10,800 watts / cubic meter. So, 3 Trillion cubic meters of Natural Gas per year is the same as thirty thousand trillion watts per year or the same as 300 Trillion 100 watt light bulbs burning around the clock.  If you don't think the heat of 300 trillion 100 watt light bulbs can do anything to heat the atmosphere, I invite you to wrap your hand around a 100 watt light bulb and report back to me what happens to your hand.  And we have not even talked about the three billion tons of coal China burns every year, etc...

Source:  

https://www.cia.gov/library/publications/the-world-factbook/geos/xx.html

For your edification, here is the actual chemistry behind the combustion of gasoline and how much CO2 is generated and how much Oxygen is consumed

Hydrocarbons such as gasoline form a bond of 8 carbons to every 18 atoms of hydrogen, or C8H18. When the hydrocarbon is oxidized, the hydrogen is burned away to create H2O and CO2

So for every C8H18 that is oxidized there are created 8 CO2 and 18 H2O molecules.

The molecular weight of carbon is 6

The molecular weight of hydrogen is 1

The molecular weight of Oxygen is 8

So a single C8H18 is (8*6)+(1*18)= 66mw molecular weight

So a single CO2 is (6)+(8*2)= 22mw molecular weight.

So a single H2O is (1*2)+(8) = 10mw molecular weight

When a single C8H18 is oxidized it will produce 8 * 22mw = 176mw in CO2.

When a single C8H18 is oxidized it will produce 9 * 10mw = 90mw in H2O

Thus the factor of mass per unit of gasoline to mass per unit of carbon dioxide produced at oxidation is about 2.68.

This is why a gallon of gasoline that weighs 7.5 lbs can produce 18.6 lbs worth of CO2

Finally, the same oxidation cycle therefore consumes 16 atomic units of O for the CO2 and 9 atomic units of O for each H2O which is 25au * 8mw for a total of 200mws in Oxygen which is a factor of 3.03.  Therefore, for each 7.5 lbs of gasoline oxidized, 22.72 lbs of Oxygen are consumed from the atmosphere.
